ECO137 (3) Homework Questions for Chapter 9 Integration part 2

1. Suppose that the demand and supply curves are P=200-0.2Q and P=20+0.1Q, respectively. Find the
equilibrium quantity and compute the consumer and producer surplus.

2. Suppose the demand and supply curves are P=6000/(Q+50), P=Q+10. Find the equilibrium price, and
compute the consumer and producer surplus.

3. Use integration by parts to find the followings:
(@) [xe™dx (b) [3xe*™dx (c) [(1+x%)e*dx (d) [ xlnxdx
4. Use integration by substitution to find the followings:
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@) [x(2x% +3)>dx (b) fxzex3+2 dx (c) [ dx (d) [ dx

5. Use integration by substitution to find the followings:
(a) fol xV1+x2dx (b) f13x—12e2/xdx
6. Determine the following integrals, if they converge. Indicate those that diverge.
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7. Examine the convergence of [ 01 dx and | 100



